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Find the x-intercepts, y-intercept, and vertex of the function.
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Solve by factoring.
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A penny is dropped from the top of a new building. Its height in feet can be
modeled by the equation y = 256 - 16x2, where x is the time in seconds since the

penny was dropped. How long does it take the penny to reach the gound? Show
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e z
Write the equation for the parabola with x-intercepts at (1, 0) and (-3, 0) and
passes through the point Q -48). Write the equation in Factored Form and
then in Standard Form. _y_p YSoxte b
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